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TVC (Mean) vs TP delay (c,b,ch)=(2:80) | 5-72/2° TVC (Mean) vs TP delay (c,b,ch)=(2,8,1) I R TVC (Mean) vs TP delay (c,b,ch)=(2,8,2) I DD TVC (Mean) vs TP delay (c,b,ch)=(2,8.3) I RIS
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TVC (Mean) vs TP delay (c,b,ch)=(2,10,0) I 4??3’;? |TVC (Mean) vs TP delay (c,b,ch)=(2,10,1) I 4712:13:‘; TVC (Mean) vs TP delay (c,b,ch)=(2,10,2) 4?;951/025 TVC (Mean) vs TP delay (c,b,ch)=(2,10,3) I 4?22?02‘:’)
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TVC (Mean) vs TP delay (c,b,ch)=(2,11,0) I 2T |TVC (Mean) vs TP delay (c,b,ch)=(2,11,1) I CHm s TVC (Mean) vs TP delay (c,b,ch)=(2,11,2) I CHEDE TVC (Mean) vs TP delay (c,b,ch)=(2,11,3) I 7961725
4172+ 0.0 4187+ 0.0 4196+ 0.0 4197+ 0.0
4000 _—- 0.00 4000 = | pl -36.02+ 0.00 4000 = | pl -36.14+ 0.00 4000 = | pl -35.74 £ 0.00
3500 3500 3500 3500
3000 3000 3000 3000
2500 2500 2500 2500
2000 2000 2000 2000
1500 1500 1500 1500
E 1000F ~ — 1000F ~ — E
1000F ¢ = 28.21 [ps/ch] C =27.76 [ps/ch] C =27.67 [ps/ch] 1000F C = 27.98 [ps/ch]
so0f- - s00F - soof- - so0f -
- - - -
1 1 1 1 1 0 L I 1 L Lo 0 L 1 1 1 [ L L 1 L 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(2,12,0) I 9950/25 |TVC (Mean) vs TP delay (c,b,ch)=(2,12,1) I 7909/25 TVC (Mean) vs TP delay (c,b,ch)=(2,12,2) I 8966/25 TVC (Mean) vs TP delay (c,b,ch)=(2,12,3) I 9314725
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TVC (Mean) vs TP delay (c,b,ch)=(2,13,0) RS2 TVC (Mean) vs TP delay (c,b,ch)=(2,13,1) I AeoAjE TVC (Mean) vs TP delay (c,b,ch)=(2,13,2) I s TVC (Mean) vs TP delay (c,b,ch)=(2,13,3) I 1245725
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